SA: XSS AID
B X AE BENL(IELXANL/XSLEA)
ol KRN

T o

XS & Al

21,425,365 29,881,291 A\8,455,926
= 6,918,750
2 9,067,000
== 5,439,615
XSAE RENL(ZELNSINL/XALTA) 21,004,700 29,455,800 £8,451,100
= 6,918,750
2 9,067,000
& 5,018,950
X RE Y 21,004,700 29,455,800 A8,451,100
= 6,918,750
2 9,067,000
[ 5,018,950
HAX S WLEXX? S2HL(2D) 5,740,000 4,923,000 817,000
= 5,740,000
403 XHX EHHI S XH=O| & 5,740,000 4,923,000 817,000
e 5,740,000
01 HX S EEE 5,740,000 4,923,000 817,000
ONLEZIXNF S2HE 5,740,000
2 5,740,000
AMTA L STHBR =7 289,481 317,100 27,619
201 YLete | 52,100 57,000 A4,900
01 At 22| | 52,100 57,000 24,900
OXIGATAIZ0F I3 2 46,000
OAEFHEN S M= 4,600
NEEEERE 1,500
202 (44| 69, 381 84,100 214,719
01 22U YI 17,381 19,100 1,719
OXIIHL AT U SIS0l 17,381
04 =H 3o Bl 52,000 65,000 A 13,000
OZAl ¥ XMWY MEAEA 10,800
=HeA e HxOHY 7,760
OEX 2R HX 0 7,760
OHFALIE Y NE25IEY 12,160
OMTTL & YISOk HXIOH 13,520
203 R FAH| 80,000 95,000 215,000
R EEEEE ST 80,000 95,000 A15,000
OAMETA ESABEZ 50,000
OAMDEE AMEZ 20,000
OXFEMY AHZER 5,000
OREFAUR AMZZ 5,000
204 QA A| 78,000 78,000 0
NEEEEET 78,000 78,000 0
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X XH .
(= I

=

NS E Al
KNEAS 2ENH(IELXGML/NELTAI)
P NEZmEHE

SEEET] 50,0002 #1302 « 122 78,000
303 Z&2 10,000 0 10,000
01 a3 10,000 0 10,000
OXHALAM LKA A4 10,000
NHTA FZAY X 15,652 17,200 A 1,548
202 01t 15,652 17,200 ~1,548
01 2UH0tH| 15,652 17,200 A 1,548
O CIRQIYR XIS - A 15,652
SAHEFSHA(PIS) 2H(2D) 300,000 200,000 100,000
= 300,000
403 X+ X & HI S Xt =0l 300,000 200,000 100,000
= 300,000
01 RIS REEE 300,000 200,000 100,000
OZAHEZSHA(PIS) 25 300,000
= 300,000
WRED Hels CASAXTL XY 2,212,017 2,968,700 AT56,683
202 04l 17,017 18,700 A 1,683
01 ZUoit| 17,017 18,700 £ 1,683
OZANESAP £F 4,739
OZAINE U AP EX 12,278
403 XX €K S X+ 20| & 2,195,000 2,950,000 AT755,000
01 IXESHMA=2E 2,195,000 2,950,000 AT755,000
OTAIIIZY FHI(2H AY) 1,000,000
OZANHETE Ha L Hal(9H4) 1,145,000
OADIXIDIZE &R (17H4) 50,000
AAZ - AN a3 26,800 70,000 £43,200
201 Qe 16,800 60,000 243,200
03 # A2 H| 16,800 20,000 £3,200
OMAZ - RENHY BEH A £ 16,800
308 X+XI M SOl & 10,000 10,000 0
01 HXSHINEES 10,000 10,000 0
OBTO A4 2I|BA SYBE 10,000
XEIfQITE AE(2 1) 8,598,750 4,153,800 4,444,950
= 6,618,750
= 1,980,000
201 LB Y| 18,750 0 18,750
= 18,750
03 A2 2t 18,750 0 18,750
OXEH IS AL 18,750
= 18,750
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SN KIS AID
: XAAE DEHL(IELT AL/ TALEA)
Sl NAREHY CERED

403 XtXI SHHI S XH=OI & 8,580,000 4,153,800 4,426,200
= 6,600,000
= 1,980,000
01 IXSHRESE 8,580,000 4,153,800 4,426,200
OXEHN elmet 1= 8,580,000
= 6,600,000
= 1,980,000
AAZ 2R 300021 E4(21) 1,755,000 1,950,000 195,000
2 1,350,000
< 405,000
403 XHXI M S X201 & 1,755,000 1,950,000 £195,000
z 1,350,000
= 405,000
01 XS RH2 2 X 1,755,000 1,950,000 195,000
onAZ T4 1,755,000
z 1,350,000
= 405,000
28 HREHO WA 90,000 0 90,000
308 XHXI EHHISOI & 90,000 0 90,000
01 RXSHBABES 90,000 0 90,000
OLHMIEHO AL - ASKI 223 WA 90,000
CAEASAT Y SHAIK WA (2D) 1,977,000 3,457,000 A1,480,000
Z 1,977,000 _
403 XX SHHS X201 & 1,977,000 3,457,000 21,480,000
z 1,977,000
01 XS R22E 1,977,000 3,457,000 1,480,000
OSANEASTINY N 1,977,000
z 1,977,000
HHSHAH (KNATAD)(IIEH/IIE) 420,665 425,491 14,826
SEE-F] 306,900 306,900 0
Ze| oY XY 306,900 306,900 0
204 MR AL| 306,900 306,900 0
02 B2 2 EH| 306,900 306,900 0
032 500,0008*12+128) 6,000
042 400,000 6%+ 128 28,800
053 250,0002*312 128 93,000
062 155, 00081 #4423 128 81,840
o7z 140, 0002 *402 * 122 67,200
08-92 105,00021 #2124+ 128 26,460
OREHLR BB 300,0008 12 +128 3,600
PIEEL] 113,765 118,591 24,82
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D I 2LIHN(XSZAID)(IIEHIIE
Jl=2Zl
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]
o

FA2Y Jl28Hi 113,765 118,591 24,826
201 2gr23 | 39,665 41,501 21,836
01 At 22l 38,365 40,401 22,036
ORMN2Z A2l 38,365

02 3324l 1,300 1,100 200
ORANE2ZE S32gH| 1,300

202 04 dl 10,920 12,000 21,080

01 =WHOdHI 10,920 12,000 21,080
FA2E U0 10,920

203 R =&l 26,580 27,840 21,260

o1 J| 22 RF&| 6,000 6,000 0
o= 6,000,000 6,000

04 EN2EYR=H| 20,580 21,840 21,260
©15¢! 0l&t 250,000% *1JH =128 3,000
©302! olst 350,000& «3JH k=123 12,600
©3121 0l&f 415,0008 =101 =128 4,980

204 Z 2L HY| 36,600 36,600 0

01 A ZH R+ 36,600 36,600 0
o=% 600,0008 «12& 7,200
(©nIPSy 350,000 6 «12& 25,200
O=Edi2e g8 350,0008 <122 4,200
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